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Question Number : 1 Question Id : 70819116054 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

2
X

The workdone by a gas molecule in an isolated system is given by, W= ['t-ljzp «kT where x

is the displacement, k is the Boltzmann constant and T is the temperature. a and { are
constants, Then the dimensions of § will be :
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Question Number : 1 Question Id : 70819116054 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Question Number : 2 Question Id : 70819116055 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Two stars of masses m and 2m at a distance d rotate about their common centre of mass in
free space. The period of revolution is :

Options :
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Question Number : 2 Question Id : 70819116055 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Question Number : 3 Question Id : 70819116056 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Four identical particles of equal masses 1 kg made to move along the circumference of a
circle of radius 1 m under the action of their own mutual gravitatinnal altraction. The spood
of each particle will be :
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Question Number : 3 Question Id : 70819116056 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Question Number : 4 Question Id : 70819116057 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Moment of inertia (M.L) of four bodies, having same mass and radius, are reported as ;

lI =M.L of thin circular ring about its diameter,

[,=M.I. of circular disc about an axis perpendicular to disc and going through the centre,
;=M. of solid cylinder about its axis and

14 =ML of solid sphere about its diameter.
Then :

Options :
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Question Number : 4 Question Id : 70819116057 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Question Number : 5 Question Id : 70819116058 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Consider two satellites 51 and S?_ with periods of revolution 1 hr. and 8 hr. respectively
revolving around a planet in circular orbits. The ratio of angular velocity of satellite 5; to the
angular velocity of satellite 5, is :

Options :
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Question Number : 5 Question Id : 70819116058 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Question Number : 6 Question Id : 70819116059 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Each side of a box made of metal sheet in cubic shape is “a” at room temperature ‘T’, the
coefficient of linear expansion of the metal sheet is “’. The metal sheet is heated uniformly,
by a small temperature AT, so that its new temperature is T+ AT. Calculate the increase in
the volume of the metal box.
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Question Number : 6 Question Id : 70819116059 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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Question Number : 7 Question Id : 70819116060 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

If'Y, K and 7 are the values of Young’s modulus, bulk modulus and modulus of rigidity of
any material respectively. Choose the correct relation for these parameters.

Options:
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Question Number : 7 Question Id : 70819116060 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Question Number : 8 Question Id : 70819116061 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

[f the velocity-time graph has the shape AMB, what would be the shape of the corresponding
acceleration-time graph ?
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Question Number : 8 Question Id : 70819116061 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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Question Number : 9 Question Id : 70819116062 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

n mole ofa perfect gas undergoes acyclic process ABCA (see figure) consisting of the following
processes.

A—=B ’ [sothermal expansion at temperature T so that the volume is doubled from
V, to V,=2V, and pressure changes from P, to P,.

B—C :  Isobaric compression at pressure P, to initial volume V.

CoA g [sochoric change leading to change of pressure from F'2 to P'l.

Total workdone in the complete q,-‘cle ABCA is:
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Question Number : 9 Question Id : 70819116062 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Question Number : 10 Question Id : 70819116063 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Match List I with List II.

List 1 List 11
(a) Isothermal (i)  Pressure constant
(b)  Isochoric (ii) Temperature constant
(c) Adiabatic (iii) Volume constant
(d) Isobaric (iv) Heat content is constant

Choose the correct answer from the options given below :

Options:
70819153347, (@) = (1), (b) — (iii), (c) — (i), (d) — (iv)

70819153348, (@) — (iii), (b) — (i), (c) — (1), (d) — (iv)

708191533409. (a) — (i), (b) — (), (c) — (ii1), (d) — (1)

70819153350. (a) — (ii), (b) — (iii), (c) — (iv), (d) — (i)

Question Number : 10 Question Id : 70819116063 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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70819153347, (@) — (i), (b) — (iii), (c) — (ii), (d) — (iv)

70819153348, (a) = (iii), (b) — (i), () — (i), (d) — (iv)

20819153349, (@) = (i), (b) = (), (¢) — (iif), (d) — (i)

70819153350. (a) — (ii), (b) — (iii), (c) — (iv), (d) — (i)

Question Number : 11 Question Id : 70819116064 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

[n the given figure, a mass M is attached to a horizontal spring which is fixed on one side to
a rigid support. The spring constant of the spring is k. The mass oscillates on a frictionless
surface with time period T and amplitude A. When the mass is in equilibrium position, as

shown in the figure, another mass m is gently fixed upon it. The new amplitude of oscillation
will be :
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Question Number : 11 Question Id : 70819116064 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Question Number : 12 Question Id : 70819116065 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A cell E; of emf 6 V and internal resistance 2 (} is connected with another cell E, of emf 4 V

and internal resistance 8 () (as shown in the figure). The potential difference across points
XandYis:

P E'l
_| |

2 Y
6V.20 4V 80

E
I |
'

Options :
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70819153356, 36 V

70819153357, 5.6 V

70819153358, 10.0 V

Question Number : 12 Question Id : 70819116065 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1
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Question Number : 13 Question Id : 70819116066 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A current through a wire depends on time as
i=agt+pt?

where ay=20 A/s and =8 As~ 2 Find the charge crossed through a section of the wire in
15 .

Options :
70819153359, 260 C

70819153360, 2100 C

70819153361, 11250 C
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Question Number : 13 Question Id : 70819116066 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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Question Number : 14 Question Id : 70819116067 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Two equal capacitors are first connected in series and then in parallel. The ratio of the
equivalent capacities in the two cases will be :

Options:

70819153363, 1:2
70819153364, 2 1
70819153365, 4: 1

70819153366, 1:4



Question Number : 14 Question Id : 70819116067 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Question Number : 15 Question Id : 70819116068 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A cube of side ‘a" has point charges +(Q located at each of its vertices except at the origin
where the charge is — Q. The electric field at the centre of cube is :

AX
+Q +Q
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Question Number : 15 Question Id : 70819116068 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Question Number : 16 Question Id : 70819116069 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

[f an emitter current is changed by 4 mA, the collector current changes by 3.5 mA. The value
of B will be :

Options :

70819153371, 7
70819153372, U-875
70819153373, V-3

70819153374, 3.5

Question Number : 16 Question Id : 70819116069 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Question Number : 17 Question Id : 70819116070 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

[n the given figure, the energy levels of hydrogen atom have been shown along with some
transitions marked A, B, C, D and E.

The transitions A, B and C respectively represent :

+eV

- Continuum o :

— — ' DeV
n=As —05 eV
n=4 —0.85 eV
n=3 ; —151 eV

gl € b
n=2 3 —34eV
A E
n=1 —-136eV

Options :

The first member of the Lyman series, third member of Balmer series and second member
70819153375. of Paschen series.

The ionization potential of hydrogen, second member of Balmer series and third member
70819153376. of Paschen series.

The series limit of Lyman series, second member of Balmer series and second member
70819153377, of Paschen series.

The series limit of Lyman series, third member of Balmer series and second member of
70819153378. Paschen series.



Question Number : 17 Question Id : 70819116070 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Question Number : 18 Question Id : 70819116071 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :
Statement I :  Two photons having equal linear momenta have equal wavelengths.

Statement I :  If the wavelength of photon is decreased, then the momentum and energy
of a photon will also decrease.

[n the light of the above statements, choose the correct answer from the options given below.
Options :
70819153379, Both Statement I and Statement Il are true

70819153380. Both Statement I and Statement 1l are false

70819153381. Statement 1 is true but Statement 1l is false

20819153382 Statement 1 is [alse but Statement 11 is true

Question Number : 18 Question Id : 70819116071 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

£Cp Eyer(h) sahm&em sTOLL ([Herenar :

Fanm 1 : &0 sene) CriCam_ () o bspenw @)@ Cum Lrdnser 4o 2jaaberiisar
(& mamT(haTenar.

ganmy 11: Cum_ L neflar sieaberd @epsauumd, CurlLrefldr 2 ks whmb
2Hned Ganélemen.

Copsrayn shmseiler yuumida, Blsh durmsswrar allaiamws
Cg 6 (HébsaLb.

Options :

20819153379, gamml I whHmb som 1 s#flunereaney.

70819153380 Famm 1 whmn sgammy) Il Flw mamenel e,



G T I sflunanenel opammad Sammy I sflwumers e
70819153381. POl = POl S

oLl I #flwumeng e e Funm) I #flwumers.
70819153382. Dol J S & o J S

Question Number : 19 Question Id : 70819116072 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The focal length f is related to the radius of curvature r of the spherical convex mirror by :
Options :

70819153383, /=T

70819153384, /= T

70819153385. 2

=
70819153386. 2

Question Number : 19 Question Id : 70819116072 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Gamareug e @ell plwllen @Geilwsammb f-&EW, cuamarey I r -5@E0 Qe Gw-

Wi Ggmjy -
Options :

70819153383, /=T
70819153384, /= T

70819153385.



f
70819153386. 2

Question Number : 20 Question Id : 70819116073 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

In a Young's double slit experiment, the width of the one of the slit is three times the other
slit. The amplitude of the light coming from a slit is proportional to the slit-width. Find the
ratio of the maximum to the minimum intensity in the interference pattern.

Options :

70819153387, 4:1
70819153388, 2° 1
70819153389, 1:4

70819153390, 3 : 1

Question Number : 20 Question Id : 70819116073 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

e wi @riemrl Gereys Cengenaniden, e Merellar oigab, whGnmm Meredlen

SisRsms L eparm WLRE 2eag. @ MWareldlmbs Ceeflamd eeflullen

cia, Yerellen dsasdnE Coi eldlasdle o drarg. GnéS H Uemerey euigauddle
. o - . . - ,.‘_L' . ) s . 3 e, . .

ghuB, dumn womb fAnw alls Cedaysendsrear ez :

Options :

70819153387, 4:1

70819153388, 2 1



70819153389, 1:4

70819153390, 3 : 1

Physics Section B

Section Id :

Section Number :
Section type :
Mandatory or Optional :

Number of Questions :

Number of Questions to be attempted :

Section Marks :

Mark As Answered Required?:
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

708191611
2

Online
Mandatory
10

5

20

Yes

1
708191891

Yes

Question Number : 21 Question Id : 70819116074 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

The coefficient of static friction between a wooden block of mass 0.5 kg and a vertical rough
wall is 0.2. The magnitude of horizontal force that should be applied on the block to keep it

adhere to the wall willbe N,

[g=10 ms 2]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText



Possible Answers :

5 to 5.001

Question Number : 21 Question Id : 70819116074 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
@ wréslaLear Flap 05 kg wOmD @ AebiE@ss dempGsmmiumear seuaiL

s
|

Aurmiss. i @uielblene 2 Tmiels @amsn 0.2 0. SHSE S, &anible
@lié Aararegnorm deleusnEs ComaLu@n Hajser elamsular wélliy

N 2@, [g=10 ms ?arand Clsndrs.]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 22 Question Id : 70819116075 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

An unpolarized light beam is incident on the polarizer of a polarization experiment and the
intensity of ight beam emerging from the analyzer is measured as 100 Lumens. Now, if the
analyzer is rotated around the horizontal axis (direction of light) by 30° in clockwise direction,
the intensity of emerging light will be __ Lumens.

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001



Question Number : 22 Question Id : 70819116075 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

M
®O

= ek B o 'ny. a1 1eGlnlaSy (@ " Cle et = N ek e e Qo et i) bl
qefldsnan uBdng. oLl @mbs Caelaumd galldshandear qefldtsleay

sarellenareyd Genseemnie, searalleeraunédlen e @m serelemaraymn

100 aymoen &6t eram eredlLuhdngl. @i6s Slelleaw Sl sser oiFmals Hummss)
aaesflurs 30° spflearmd (gallear dosda) daeflambd gefldar Geday

BUITLO GOT & 6T

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 23 Question Id : 70819116076 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

A ball with a speed of 9 m/s collides with another identical ball at rest. After the collision,
the direction of each ball makes an angle of 30° with the original direction. The ratio of
velocities of the balls after collision is x : y, where x is _

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 23 Question Id : 70819116076 Question Type : SA

Correct Marks : 4 Wrong Marks : 0



@ Ubgl, 2Cs darayeter @uley Blevauller o drer wHGDI@EH Lbs WE 9 m/s
Ceuasdle Corgdlpg. Corsquéel Yer, Csr_dss Heanswu e, geulleunm Lbgh
30° Canemsens gnulssdlaner. Corsaisel Yer, seueilm ubssefa
HensGeaisalldlsn x : y erafled, x -am odliL DHLD.

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 24 Question Id : 70819116077 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

A h}-’draulic press can lift 100 kg when a mass ‘m’ is pIaced on the smaller piston. It can lift
kg when the diameter of the larger piston is increased by 4 times and that of the
smaller piston is decreased bﬂ, 4 times keepi_ng the same mass ‘m’ on the smaller piston.

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 24 Question Id : 70819116077 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

e Sreutiiud sjupsdl, siger dflu ever B 'm’ flan aeassiu@n Cung,
100 kg eranLenwid gnss pydpg. Al Geviafler Bg =Cs flenp o emer Cung),
Al Yevaflen efLid 4 wLkiE Gapdsiul B, Guilu Gevaler i Lib
4 oLiE oflsflssiul L, oibs Sipsdund §166 wigub Hlap

Response Type : Numeric



Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 25 Question Id : 70819116078 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
o2

An inclined plane is bent in such a way that the vertical cross-section is given by y = T

where y is in vertical and x in horizontal direction. If the upper surface of this curved plane
is rough with coefficient of friction p=0.5, the maximum height in cm at which a stationary
block will not slip downward is cm.

Response Type : Numeric
Evaluation Required For SA: Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 25 Question Id : 70819116078 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

"9

Q@ FTigeTD, g6 QEmEss GNEGU UTOY y = T&n edarainy

aumatsslILHEDE. @riE y -tengss wdlmuwb, x -daLdger walmuwb
Qe (Hereran. smieurar Goe) UFUL, p=05 eern smieysd &emssHs) L6
QemyQamyiiuns o dreng) aefld, g g e ssliLHL @k @l Hlaauld o der
sLanL B(peumned @m&@n Gumn 2 wb

Response Type : Numeric

Evaluation Required For SA : Yes



Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 26 Question Id : 70819116079 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

A resonance circuit having inductance and resistance 2x10 4H and 6.28 0 respectively
oscillates at 10 MHz frequency. The value of quality factor of this resonator is

[7=3.14]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 26 Question Id : 70819116079 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

Q(F @&sdTeys snm, 2x10"4H e enLw @ Wangramy. whmh 6.28 ) WlengeamL
pdlwereupennd Daramperers. =g 10 MHz -& oidlieundlng. @&snbler Sne
smyaniufler wdoy . [w=314]

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001



Question Number : 27 Question Id : 70819116080 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

An audio signal v =20 sin 2w(1500t) amplitude modulates a carrier
v.=80 sin 2(100,000t).

The value of percent modulation is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 27 Question Id : 70819116080 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

R A , SR A O N — R0 cin e
v, =20 sin 2w(1500t) erem EHUELLU@D @ @l emsms, g v, =80 sin 2w(100,000t)

erarm GOLELLu{L 2a7dl esamsau déal uamCupnb Celudng eaflao,

m

pamGupmn sseildlsn _ Sy@Eb.
Response Type : Numeric

Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 28 Question Id : 70819116081 Question Type : SA

Correct Marks : 4 Wrong Marks : 0



In connection with the circuit drawn below, the value of current flowing through 2 kf}
resistoris  x10"%A.

AN
1k

]
2 k0 -
| N

Response Type : Numeric

Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 28 Question Id : 70819116081 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

Gy Qar®ssuu’Harar Wlear &ndled, 2 kO lanr s wlanr auflGw Lmyb

WenGerm_LgHlemr wdliy _ x107* A g0,
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1k

-
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Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001



Question Number : 29 Question Id : 70819116082 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

An electromagnetic wave of frequency 5 GHz, is travelling in a medium whose relative electric
permittivity and relative magnetic permeability both are 2. Its velocity in this medium is
%107 m/s.

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 29 Question Id : 70819116082 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

e 5 GHz ol idaamaneanw Waranbs <ema, Wearie eaiwnd Sper womib

@luaw smhsliue 2 LGdnar gpdueareinbler il 22 eLw g 26 &6 b

cu Ll G Cewdlng. obs oassdled, Blaanbs smassrar SHamsCeash
ra .
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Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 30 Question Id : 70819116083 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

A common transistor radio set requires 12 V (D.C.) for its operation. The D.C. source is
constructed by using a transformer and a rectifier circuit, which are operated at 220 V
(A.C.) on standard domestic A.C. supply. The number of turns of secondary coil are 24, then
the number of turns of primary are



Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 30 Question Id : 70819116083 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

@m dungeurar wyrendlev i GCrgGur eewiler Cewduriyhe 12 V (D.C)
Blaranpssn Csmeiu@éng. srwrear 220 V (A.C) &iL® e ppassla
@eemdslLl L @ 2ead Smsdesnn womb e Wannrhbleawd Gssm(,
2hg Waranpds epald o meundsiuBéng. bg Wanombluild o drer g eama
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Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Chemistry Section A
Section Id : 708191612
Section Number : 3
Section type: Online
Mandatory or Optional : Mandatory

Number of Questions : 20



Number of Questions to be attempted : 20

Section Marks : 80

Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 708191892
Question Shuffling Allowed : Yes

Question Number : 31 Question Id : 70819116084 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of the following are isostructural pairs ?
A. S02- and CrO/?

B.  Si(l4 and TiCl,

C. NH,;and NO,

D. BCl; and Br(l,

Options :

70819153401, “* and B only

70819153402, “* and C only

70819153403, © and C only

70819153404, © and D only

Question Number : 31 Question Id : 70819116084 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Epsamcubiler @55 el Harar,. @enamser wrenel ?
A. S0.2~ whmw CrO,2

B. Sid, whmibd TiCl,

C. NH; wpmib NO,

D. BCl; whmib BrCl,

Options :

70819153401, - OO B LoL(ie

70819153402, A LHmd C L (Hib
70819153403, B LOmIb C (b

70819153404, € whmd D L (hib

Question Number : 32 Question Id : 70819116085 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

In Freundlich adsorption isotherm, slope of AB line is :

B
T A /
e |E >

logP —»

Options :

n with (n, 0.1 to 0.5)
70819153405.

20819153406, 08 D With (n>1)

Ingl with (n < 1)
70819153407. e



" ;- A
i “riﬂ] l = D to _].
1

70819153408. ™ ; /

Question Number : 32 Question Id : 70819116085 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

SpsaarL Grel & uglysal subaliusCan® amyuLsha, AB ey
Ga&milgam smie] :

B
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log P ——>

x
lo gﬁ

Options:

n, @ser wHUY (0.1 G e 0.5
70819153405,  =°© = L )

logn, @EE N =1
70819153406, 0 = O

Ingl @rEn<l
70819153407. n

=

e 1
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gt

0 p
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=
= |
B |-

70819153408.

Question Number : 33 Question Id : 70819116086 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Consider the elements Mg, AL S, P and Sj, the correct increasing order of their first ionization
enthalpy is :

Options :

70819153409, Al <Mg<S<S5<P

70819153410, Mg <Al <Si<P<S

70819153411, MBS EISRSISE

70819153412, Al<Mg<S8<Si<P

Question Number : 33 Question Id : 70819116086 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Mg, ALS,Pwmmib Si o dlws saflwmsaflen s swellungb erergradder sflumer
gneflas :

Options :

70819153409, Al <Mg<Si<S<P

70819153410, Mg < Al<Si<P<S

70819153411, Mg <Al<Si<5<P

70819153412, Al <Mg<S5<Si<P

Question Number : 34 Question Id : 70819116087 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of the [ nﬂowing ore is concentrated using group 1 C}-’H.t‘lid[‘ salt ?

Options :



70819153413, Calamine

70819153414. Malachite

70819153415, “iderite

70819153416. Sphalerite

Question Number : 34 Question Id : 70819116087 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

b

SpssamLauphe aps sM15 wse dsngs suamearlh) 20y Csran(
LT9ss0uHdng ?
Options :

70819153413, & [Tl &l LOGET

70819153414. LD MEDER &L

70819153415, FlLmen

G Ladl en il
70819153416, 0 EHSl@IC

Question Number : 35 Question Id : 70819116088 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

(A) HOCI+ I—IEO2 — I—IHD F+Cl- + Dz
Choose the correct option.

Options :



70819153417, I-I_?D2 acts as oxidisf_ng agent in equations (A) and (B).

70819153418 H?_D?_ acts as reducing agent in equations (A) and (B).

20819153419 H-0, act as oxidizing and reducing agent respectively in equations (A) and (B).

70819153420 I-IEEF2 acts as reducing and oxidising agent respectively in equations (A) and (B).

Question Number : 35 Question Id : 70819116088 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

(A) HOCI+H,0, - H,0* +Cl~ +0,
B) 1L+H,0,+20H =21~ +2H,0+0,
gilurer eflenLenwsd Csibels(HéEseyLb.
Options:

-

swenun(® (A) womb (B) @reamgad Hy,0, spéellnGarnplung Gewau®&ng.

70819153417.

-

goarur(® (A) womb (B) @rawmgaid H,0, @@ pbellnar ehsdwuns
" G
70819153418, @FLOL(EDS.

H,0, asalloGarhil womb opsailnea ehsduns panGu swearur® (A)

DL -le Aaweau(pdng.
70819153419, 20D (B) -l Gewau@éps:

H,0, gsellmer ehidd wnnn sellnGanluns wapGu soeaun® (A)

mnmn (B) -1l QewuauRdma.
70819153420, P2 () oD

Question Number : 36 Question Id : 70819116089 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



AIZO3 was leached with alkali to get X. The solution of X on passing of gas Y, forms Z.
X, Y and Z respectively are :

Options :
X=Na[Al(OH),], Y=50,, Z=Al,0,

70819153421,
70819153422, X=Al(OH);, Y=50, Z=AL0;2H,0
70819153423, X~ AlOH)3, Y=COy 2=AL0;

X=Na[Al(OH),], Y =CO,, Z=Al,0..a2H,0
70819153424. alA(OH),] 2 ,030Hy

Question Number : 36 Question Id : 70819116089 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

ALO, -@ sy Genan( seluBb GCurgy X deLsdng. X sopsedlad Y aern
aumy deaussliu@n Gurgy Z daLsdpg eeflad X, Y wonb Z wpeapGu
Options :
70819153421, = NalAlOH),], Y=50,, 2=AL0,

70819153422, X=AlOH);, Y=50, Z=AL032H,0

70819153423, ~=AlOH)3, Y=CO, Z=AL0;,

X=Na[Al(OH),], Y =CO,, Z=Al,0..a2H,0
70819153424. a[A(OH),] 2 203xHy

Question Number : 37 Question Id : 70819116090 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The electrode potential of M2+ /M of 3d-series elements shows positive value for :



Options :

70819153425, Fe

70819153426, €O

70819153427, 4P

70819153428, Cu

Question Number : 37 Question Id : 70819116090 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

3d - auflanss paflnmsafler M2 /M Weanpeear wsssms Coi@h whldea

[l ol

Clamew_gl erg ?
Options:

70819153425, Fe

70819153426, CO

70819153427, 2P

70819153428, Cu

Question Number : 38 Question Id : 70819116091 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The major components in “Gun Metal” are :
Options :

70819153429. Cu, Sn and Zn



70819153430, Cu, Zn and Ni

70819153431, Cu, Niand Fe

20819153432, I Cu, Mg and Mn

Question Number : 38 Question Id : 70819116091 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
“gar Gl /drad dearsagdla o drer (padunrar LGSl Durmlsar :

Options :

70819153429, Cu, Sn Hm D Zn

70819153430, CW Zn wpoib Ni

70819153431, Cw Ni Do Fe

70819153432, ‘b Cu, Mg wpmid Mn

Question Number : 39 Question Id : 70819116092 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The gas released during anaerobic degradation of vegetation may lead to :
Options :

70819153433, Acid rain

70819153434, Global warming and cancer



70819153435, Corrosion of metals

70819153436, ©zone hole

Question Number : 39 Question Id : 70819116092 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

sraupisener smfler @pald HamssE@n Cung CeuefelitiL@n cumy SHpssam
aThg WwrhHnsdlneg smeamondng ?

Options :

70819153433, IDI® e

70819153434. D Gudh LD 'xu‘lﬁ:".JI_I_LI_‘Iu_LI_‘IH:ﬂ-;-LU wmmiwn  Ljmm '\_;;:mll.]_l

70819153435, =M =ANILL

70819153436 @Grnen 2(HéHledr @lenl FgHUDSSH S

Question Number : 40 Question Id : 70819116093 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of the following compound gives pink colour on reaction with phthalic anhydride in
conc. H,SO, followed by treatment with NaOH ?

HO

Options :

70819153437.



70819153438, OH

H3C :@:\/ CHE-

708191534309. HO 2

HO

SO

CH,

CH;

70819153440.

Question Number : 40 Question Id : 70819116093 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

ilépéhdﬁé!‘:ﬁll_ arbg Gefub <Lf H,S0, -ebled 2 amar gnells Biledl 2 Len eflanenu(sS)
Sigmand Ggn_ibg NaOH Gsié@n Gung @erd feuiiy Hlob smdlng ?

HO

Options :

70819153437.
CHj
70819153438. OH

HaC :@i\/ CHj

70819153439. HO o

70819153440.



HO CH;

)OO

HO CH,

Question Number : 41 Question Id : 70819116094 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

CH CH
NN, 7

What is the major pmduct formed b}-’ HI on reaction with

CH,
CH;
Options :
CHg
CH;—C— CH—— CH,I
70819153441, Oy
CH,
CH; —C— CH— CH,
1 CHj
70819153442, i
CH;,
CH,—C—CH—CHj,
70819153443. CHj 1

CH3 — CH — CH — CH,— CH,

70819153444,



Question Number : 41 Question Id : 70819116094 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

CHI; ‘-\‘\(:// CH“'\%\\

CHy -eeu HI oLan dlevarusdlemme Herls@n WOEHwmen
/ bt ol o AT
CH,
CH,

ellenarGlummar ergl ?

Options :
CHj
CH, T. C CH,I
70819153441. CH; H
CH,
CH; —C—CH—CH,
I CH,
70819153442, .
CH,
CH; —C—CH—CH,
70819153443, CH; 1
CH, CH CH CH,— CH,
70819153444, CHy

Question Number : 42 Question Id : 70819116095 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Which of the following reagent is used for the following reaction ?
?
CH3;CH,CHy ——> CH;CH,CHO
Options :

70819153445, Copper at high temperature and pressure

70819153446, Molybdenum oxide

70819153447. Manganese acetate

Potassium permanganate
70819153448.

Question Number : 42 Question Id : 70819116095 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Epasam ehg spanfl Gemeumd wrhnsdad vwaTuRSSLLHEDE ?
CH4CH,CH; ——> CH,CH,CHO
Options :

dl& Cleul L{ﬂ}l@ﬁ:@: LOMHmILD ‘__{'H.;:p-{_‘g;{t_iﬁ.{&;lcut &L

70819153445, =

20819153446, Lomebl g 6ird  <y&en& (b

70819153447 OMEI Sents <odl G

70819153448. '\:_;||_ n |—|—”|’_'Hu_ L0 '~:_;|I_ TLOIT MR &'\ oodl L

Question Number : 43 Question Id : 70819116096 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



The product formed in the first step of the reaction of

Br
|
CH; —CH, —CH—CH, —CH—CHj; with excess Mg/EtLO(Et=C,Hx) is :
|

Br
Options :
CH;—CH,—CH—CH,—CH—CHj
CEL - O CH T
70819153449. 3 2 2 3
CH,
cHy—cn |
70819153450. CH— CHj
CH;— CH,—CH— CH,— CH— CH,
CHy = CH— = Hs=—CH-~CHj
70819153451, 2 -
MgBr
|
CH;CH,—CH—CH,—CH—CH;,
|
70819153452, MgBr

Question Number : 43 Question Id : 70819116096 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Br
|
CH; —CH,—CH—CH,—CH—CH; -2 =fls ety Mg/EtO - (Et=C,Hs)-ayLéin
|
Br

lemaru(sgn Curgy wpsaurnle daLsEh elmar Cummer :

Options :



CH;—CH,—CH—CH,—CH—CHj

CH;—CH—CHy—CH—CH;—CHy
70819153449. N

CH,
cr—cn |
70819153450 CH— CHy

CH;— CH,—CH—CH,— CH— CH

| |
CH; — CHy— CH— CH,— CH—CH,
70819153451, 2 -

MgBr
|

CH3CHy— CH—CH,—CH— CH,
|

70819153452, MgBr

Question Number : 44 Question Id : 70819116097 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

What is the final product (major) ‘A’ in the given reaction ?
., OH
CHs,

CH
e [, —Hd ' AT
(major product)

Options:

70819153453.

70819153454,



CHj

CH=—CH,
CH,
CH
\\“CI—I3
70819153455.
CH,
cl
CH,— CH,
70819153456.

Question Number : 44 Question Id : 70819116097 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Spssam cflanemlled pyeier daLsEh WEedwnmar efanearGunmer ‘A’ g ?

OH
CH,
CH :
\\‘(.-.Hg HCl "™
(W@glwrer efleanamlLmmer)
Options :
£l
CH, ‘
CH
\"‘C_Hj
70819153453.

70819153454.



CHj

CH=—CH,
CH,
CH
\\“CI—I3
70819153455.
CH,
cl
CH,— CH,
70819153456.

Question Number : 45 Question Id : 70819116098 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Identify products A and B.

CH,

g/ Tgil KMnOy CrO;
273K > A » B
Options :
CH, CH,
70819153457, OH O
CH, CH,
A: OH B: CEOH
70819153458. OH O

708191534509.



CHj CH;

OH O

O O
I I

A : OHC —CH,CH,CH,—C-—CH. B : HOOC-—CH,CH,CH,—C—CH
70819153460. e 3 2CH,CH, 3

Question Number : 45 Question Id : 70819116098 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

sipssaL elaeanie fdaLsgn elamercurmer A wpm B -ew san[) by ssa b,

CH; i
585 KMnOy Cr0;
@/ MK 4 > B
Options :
CH,4 CH,
A OH B:
70819153457. OH O
CHj CH,
A: OH B: OH
70819153458, OH O
A B
70819153459, OH O
O QO

[ I
A= OHC =CHIH.OH,—C-CH: B~HODC-—CH.CH/CH, - C —=H
70819153460. 2Ryl 3 2CH,CH, 3



Question Number : 46 Question Id : 70819116099 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

In the fnllnwing reaction the reason wh}-' miela-nitro pmduct also formed is :

NH, NH, NH, NH,
. NO,
Conc. HNO,
e ) k o
Conc. H:ﬁ{_}4, 288 K
NO,
NGO,
[A] [B] [C]
51% 47% 2%
Options :
70819153461, I‘\;IH2 group is highly mela-directive
—INO, substitution always takes place at mela-position
70819153462. " &

70819153463 Formation of anilinium ion

low temperature
70819153464.

Question Number : 46 Question Id : 70819116099 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Spsar eflenanuied, Ghol L m-eflenar@ummer o (HeuTeUSDETET STERILD,
C L A el

NH, NH, NH, NH,
<9|L_T HNO, NS
> + +
9L H.50,, 288 K
L 4 NDE

NO,
[A] [B] [C]
51% 47% 2%

Options :
20819153461 —NH, Aar@Ed e HAobs Gwlcr-@ub Cersdl psissn CsmEd.

. AR erl b Gl mr-@LsHCCL Blauob.
70819153462, ~ NO, LS ariGungid Ghocs m-GL 5HCHCL Hlas b

70819153463, 2ledldlafiun el o euns.

70819153464, ©@DBS Clauliublena.

Question Number : 47 Question Id : 70819116100 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

‘A’ and ‘B’ in the following reactions are :

NH,

NaNOQ,/HCl (A) SnCl,/HCl/H,O*
_—
KCN

r 4

Options :

N
N,ClI Cl

(A): (B) :

70819153465.



N,Cl CHO
(A): (B)
70819153466.
CN &
(A): (B) :
70819153467.
CN CHO
(A): (B):
70819153468.

Question Number : 47 Question Id : 70819116100 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Epssan cilenamda o (meum@Eh ‘A" wHmibd ‘B’ eremuem :

NH,
NaNO,/HCl SnCL,/HCl/H,0*
“xen W 4L
Options :
+ =
N,Cl Cl
(A): (B) :
70819153465.
+ —
N,(Cl CHO
(A): (B):

70819153466.



CN Cl

(A): (B) :

70819153467.

CN CHO

(A) : (B) :
70819153468.

Question Number : 48 Question Id : 70819116101 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Match List 1 with List I1.

List 1 List 11
(Monomer Unit) (Polymer)
(a) Caprolactum (i)  Natural rubber
(b) 2-Chloro-1,3-butadiene (i) Buna-N
(c) Isoprene (iii) Nylon 6
(d) Acrylonitrile (iv) Neoprene

Choose the correct answer from the options given below :
Options :

70819153469, (@) = (), (b) = (ii), () — (iii), (d) — (iv)

70819153470. (@) — (iv), (b) — (iii), (c) — (ii), (d) — (i)

20819153471, (@) = (i), (b) = (i), (c) — (iv), (d) — (iii)

70819153472, (@) = (iii), (b) = (iv), (c) — (i), (d) — (i)

Question Number : 48 Question Id : 70819116101 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Cgmad 1 o Qan@d) - 112 Lan Wanmyu{sss.

AL Clzm@dl 11
(D&M Liig) (Usoulig)
(a) &TUGrTam&LLD @) @uhes @ooaur
() 2-&CemCrm-13-Ayr Lrenrwfen (i) Gyerm-N
() oCemlflen (ii) enmamET 6
(d) damyCamenbLaye (iv) HIGwmfle
0 sramuareupdle @mbg urmsswrer elmLmwus Cambos{Hsse |
Options:
0819153460, @) = @), (0) = (i), () — (i), (d) — (V)

70819153470, @) = (i), (b) — (iii), (¢) — (i), (d) — (i)

70819153471, (@) — (i), (b) — (i), (¢) = (iv), (d) — (iii)

70819153472, (@) = (iii), (b) = (iv), (c) = (i), (d) — (i)

Question Number : 49 Question Id : 70819116102 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Qut of the f ollowing, which type of interaction is responsible for the stabilisation of a-helix
structure of proteins ?

Options :
70819153473. vander Waals forces

20819153474. Covalent bonding

70819153475, onic bonding



70819153476, Hydrogen bonding

Question Number : 49 Question Id : 70819116102 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Spssan_aundla s qarm Lrshsaflar a- &mar Sewldne smamondpg ?
Options :

70819153473, CHMell eUiTenen eitl an & 6t

e
70819153474, &4 Ulenenill

20819153475, <2wefll epanriiny

snaml_mene L4en 6Ty
20819153476, PADLIgRe GeneniLy

Question Number : 50 Question Id : 70819116103 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement 1 :  Colourless cupric metaborate is reduced to cuprous metaborate in a luminous
flame.

Statement I :  Cuprous metaborate is obtained by heating boric anhydride and copper
sulphate in a non-luminous flame.

In the light of the above statements, choose the most appropriate answer from the options
given below.

Options :

70819153477 Both Statement I and Statement 11 are true

70819153478. Both Statement 1 and Statement 11 are false



70819153479. Statement 1 is true but Statement 1I is false

70819153480. Statement 1 is false but Statement Il is true

Question Number : 50 Question Id : 70819116103 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
G @ran®) spnsar Qanpas vl (Hararan.
gapm 1: Hlmparer sLflé Hlowpo @oflé Qulor CunGrl, @lye CurGrlins
@(sswamLdlng.
gapm I : sniuf soGul whmin Cunfls eullabflelaw Hnwbn &L @Hub sz
Cumg @UrevCwlLr CunGrl faLsdlng.
Copsar. spnsefar <glum e, Spssar. sraseia @mbs sfluner
aflenLenw Cainbls([HEs6L0.

Options :

70819153477. Emﬁ)@j I nHmib E“EJQI I @rer(in &flwimerg.
70819153478. gapml 1 womb som I @rear(hib &eumneng.

70819153479, 001 1 &0l erne sapmy 1 saup.

20819153480, ¥-DDI | seum pened samm) L1 &4l

Chemistry Section B

Section Id : 708191613
Section Number: 4
Section type: Online

Mandatory or Optional : Mandatory



Number of Questions : 10

Number of Questions to be attempted : 5

Section Marks : 20

Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 708191893
Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 70819116104 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

4.5 g of compound A (MW=90) was used to make 250 mL of its aqueous solution. The
molarity of the solution in M is xx 10 | The valueof xis . (Rounded off to the
nearest integer)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 51 Question Id : 70819116104 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

45 g Gerob A MW=90), Bfld s&emrss 250 mL aamrsd surflésiulLg.

2dsmreder Corerfiiy (M -oedd) xx107L x -6r wduy _
(eflanL : ymdled 2 eem (p(p eTaimantled)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText



Possible Answers :

5 to 5.001

Question Number : 52 Question Id : 70819116105 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

The coordination number of an atom in a body-centered cubic structure is __

[Assume that the lattice is made up of atoms.|
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 52 Question Id : 70819116105 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

ummer e seneg)y Senoltla 2 drar n ameiler oemeamey erawr .

(8(h&& - Ligs el semdseer Camem() 2 (meurdlwerarg.)
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 53 Question Id : 70819116106 Question Type : SA

Correct Marks : 4 Wrong Marks : 0



A proton and a Li* " nucleus are accelerated b‘i, the same potomial. If A and pr denote the

de Broglie wavelengths of Lt and proton respectively, then the value of % is rx 1071,
P
The value of x is . (Rounded off to the nearest integer)

[Mass of Li** =8.3 mass of proton]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 53 Question Id : 70819116106 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

-

. o . r L B gt .3 4 s ' (N ; Y- Tn
@m yGmmiimer womb gm Lt seésm @rem@on swworer wpHés elams |
Qaran(® pHésuub&ng. A, LHmD Ay weanGw Li** whmw

1 M) M &
20~

B . . ('1 . fir] . o (-\ -~ L . . . J\L] o
L Crm_Lnefler e ynéell semabardams @Ol Hdng erensCsnamme, —L -uan

'}\P
Y xx107L x -an Wy (eflenL @ oimdled 2 amer (p(p ereRmantlad)
[Li** -eir Blaom = 8.3 yCymlinan Flenm]
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 54 Question Id : 70819116107 Question Type : SA

Correct Marks : 4 Wrong Marks : 0



For the reaction A, — By, the value of the equilibrium constant at 300 K and 1 atm is equal
to 100.0. The value of f_\r for the reaction at 300 K and 1 atm in | mol lis — 1R, where 1 is
. . (Rounded off to the nearest integer)

[R=8.31] mol 'K~ ! and In 10=2.3)
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 54 Question Id : 70819116107 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

300K ommib 1 atm -edled A~ By eraimn alenamuller &oflena wmledl wdliiy 100.0
aafléd, sicuademander AG,300 K bhmb 1atm-é -aR (Jmol™! sadld). @kE
x-am ooy (eflenL oymdled o eirer (pp eraimantled) [R=8.31] mol ~1K !
wHmb In 10=2.3]

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 55 Question Id : 70819116108 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

When 9.45 g of CICH,COOH is added to 500 mL of water, its freezing point drops by 0.5°C.
The dissociation constant of CICH,COOH is x X 10 3, Thevalueof xis (Rounded
off to the nearest integer)

(K 1,0)=1.86 K kg mol ]

Response Type : Numeric



Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 55 Question Id : 70819116108 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

9.45 g of CICH,COOH -g 500 mL fifléd Gefa@o Gung, igan 2 apblaas smpey
0.5°C erafléd CICH,COOH -éin flens wmdledl xx10-3, x-ar WAL
[Ks 1,0 =1.86 K kg mol 1 (eflen ymdled o arar (prp eremanfle)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 56 Question Id : 70819116109 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

At1990K and 1 atm pressure, there are equal number of Cl, molecules and CI atoms in the
reaction mixture. The value of K] for the reaction 'LIj ?LI under the above conditions
is xx 10~ L. The value of x is _ . (Rounded nLI}f to the nearest integer)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :



5 to 5.001

Question Number : 56 Question Id : 70819116109 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

1990 K ommitd 1 atm c%qt:lg'ﬁ'bﬁ}épg)‘lét. e ear samaidle) swwrear erameniléamaude
Cl, epeéanmasend Cl 2iamssEhh 2 @rerar.

Cuonsear Hlubsenansafld

Clyg = Ly

areinp eflenaman K iy xx10 L x-ar wéluy  (eflenL i(mdled 2 e

(py eremenfled)
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 57 Question Id : 70819116110 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The reaction of sulphur in alkaline medium is given below :
The values of ‘a" is

2 2
—> b5 aq) T 505" (ug)

(Integer answer)

n

Response Type : Numeric
Evaluation Required For SA: Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001



Question Number : 57 Question Id : 70819116110 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
gL, sy Blenawanwuder smb eflenar &GS syl (HeTarg.

2 2
Sge)+a OH™ g —» b S27 1+ 5,0,2" 0y +d H,0)

@euallenamulley ‘a” -eflenm ALY (eflen (pp eremenfled )
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 58 Question Id : 70819116111 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

Gaseous cyclobutene isomerizes to butadiene in a first order process which has a 'k’ value of
33x10~4s1at 153°C. The time in minutes it takes for the isomerization to proceed 40% to
completion at this temperature is . (Rounded off to the nearest integer)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 58 Question Id : 70819116111 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

angGemmAliy GLeir eumyy Sy 1 ment Wens LomHmLoanL 56 GF (PSaens ellaamumEid.
Eleuciienamuen k' iy, 153°C - 3.3x10™4s 1. @bs euriu Flavaouler Cuopaaim
oGemornés eflear pueasn@ 40% caarGung aBsgsbararennd Gryb
(Bl riisafle) . (eflanL : oymdléd 2 amer (p(p eTeRTaRiled)



Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 59 Question Id : 70819116112 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

Number of amphoteric compounds among the followingis .
(A) BeO (B) BaO (C) Be(OH), (D) Sr(OH),
Response Type : Numeric
Evaluation Required For SA: Yes
Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 59 Question Id : 70819116112 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

afgj&d:e.isn_fmﬁ;_l_ﬁ@t o grer Flwey Carwrishiseallen oramentiEeons

(A) BeO (B) BaO (C) Be(OH), (D) 5r{6ﬁ5|2
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :



5 to 5.001

Question Number : 60 Question Id : 70819116113 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
The stepwise formation of [Cu(NH,) 4]2 " is given below :

o K
Cu® + NHy ==

2+

|Cu(NH3)|

. - 4 K4 - +
[{_u[NH\-g]Jh F NHy —== [{—“(NHL!)E]Z

. 74 K- +
[Cu(NHz ), " + NHy == [Cu(NH; )3 J2

[CU(NH;S];!F* + NHj M |Cu(NHs 34]2*

The value of stability constants K, K,, K, and K are 104, 1.58 x10%, 5x10% and 102
respectively. The overall equilibrium constants for dissociation of [Cu(NH,) 4]2* isxx10-12,
The value of x is (Rounded off to the nearest integer)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 60 Question Id : 70819116113 Question Type : SA

Correct Marks : 4 Wrong Marks : 0



[Cu(NHy),J** o reaungallen Ly auflens ECp Canpésiiu (etens).

. K +
Cu?* + NHy =L= [Cu(NH;)}

4

K2

[Cu(NHg)[** + NH, [CuNH;), [**

. o K- +
[Cu(NHy), ™" + NHy === [Cu(NHy), JZ

. . i .
[Lu{NH\-;)\-,F F NHy ——= {LU{NH\%MJZ

K, K, K; whmb K, uigsaflen Hlaveliys gereow wrblad wpapGu 104, 1.58x 10°,

5x10% wHmb 102 [Cu(NHy),)** -dé1 gLp0wrss sufloe wrhlal wsliyxx10~12

eremled x -em Y
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5 to 5.001

(elenL Symled o amar (pup ecreamrentled)

Mathematics Section A

Section Id :

Section Number :
Section type :
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Number of Questions :

Number of Questions to be attempted :

Section Marks :
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Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

708191614
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Question Number : 61 Question Id : 70819116114 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

X

[

Let f: R — R be defined as f(x)=2x-1and g: R — {I} — R be defined as g(x) =
' ' —1

Then the composition function f(g(x)) is :

Options :

70819153491, °ne-one but not onto

70819153492, onto but not one-one

70819153493 neither one-one nor onto

70819153494 both one-one and onto

Question Number : 61 Question Id : 70819116114 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

f: R=R aamugl fix)=2x—-1 womd g: R - {1} — R eramug) g(x)=

=
Ju—

Options :

o~ =i - . i s 2 o e - 3 : (o 2 5 210
70819153491, uﬁuﬁlﬂdﬁ'ﬁ]nﬂtl]uﬁlﬂ}l]uﬂl %uﬂll]ub‘ 'wLL‘Iﬂ)'wn’.‘l‘:lll,l{nﬂ':-{d_}uL‘ SHTITILY %ub‘m;@b.

20819153497, “LDLEEMNTHHED Dpermed Genmi&barernmeng @)eeana.

eatm&LE&rermmer wHnw CuhHCanissd @reamHn @deana.
70819153493, 2% o Do HCamsse @ran(ib @



aarm&tsrarmmen wWHMWL CLHEETTESL ETam(HD 68
70819153494, & L g DLsmsse Qe pens)

Question Number : 62 Question Id : 70819116115 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Let p and q be two positive numbers such that p + q=2 and p*+q*=272 Then p and qare

roots of the equation :
Options :

L e

70819153495, ¥~ 2x +136=0

k. ) :
70819153496, ¥ 2*116=0

2 g =
70819153497, ¥ 2x+8=0

2
70819153498, *

Question Number : 62 Question Id : 70819116115 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

=2 nimin or+at=272 aama o drer @ WBlen e B
ptq=2 wom p*+q*=272 arempeunm 2 arer @raw(h Wlens ereRmEEr p LHMLD q
L&D, p LOMD q eaTUETEIDED cpeEEHTTSS CgmemmL FwarLm()
Options :

¥ y et
70819153495, ¥~ 2x 1136=0

3 5 -
70819153496, * X t16=0

Bl
70819153497, ¥ 2x18=0



2_ 9y 40—
70819153498, © X 12=0

Question Number : 63 Question Id : 70819116116 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The system of linear equations
3x—2y—kz=10
2x —4y—2z=6
x+2y—z=50m

is inconsistent if :

Options :

70819153499.

70819153500.

k=3 m=#
70819153501.

U =

+ 3
70819153502, < = > meR

Question Number : 63 Question Id : 70819116116 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
dx—2y—-kz=10
2x—4y-2z=6
x+2y—-z=5m
atairn Crflw gwarur@sefler Asn@ly @mismwe) HnsTs @mes Coemaiwne

B I’ll i I"
sL(huum(y



Options :

708191534909.

70819153500.

k=3 m=# :
70819153501. >

+ 3
70819153502, < = > MR

Question Number : 64 Question Id : 70819116117 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The value of

150, 4+ 215, - 315¢, 4 - - 1555C; + 8¢y + My + MGy + - + Mgy is:
Options:

70819153503, 2101

70819153504, 2° 14

70819153505, 2~ 13

~14
70819153506. <

Question Number : 64 Question Id : 70819116117 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



15(:1 { 2'15{:2 3'15{:3 e ]5'15{:15 | 14{:1 | 14{:3 { 14(:5 g e o MC“ '(3;:'|
&l
Options :

70819153503, 2 1

70819153504, 2~ 14

13
70819153505, 2~ 13

~14
70819153506. ~

Question Number : 65 Question Id : 70819116118 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

.. [ | ;
|\'i!‘.‘i'x+ﬁ!‘:‘i4:+\"i!ﬁ' .= |log,

If e satisfies the equation t2-9t+8=0, then the value of

2sinx T,
e R T 0{.1'{_ 15 :
sinx+ y3cosx

Options :

b | =

70819153507.

70819153508. V3

K| L

708191535009.

70819153510.

Question Number : 65 Question Id : 70819116118 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

[cos™x + cos’x + cos’x + .. =|loge2 E . . X

B ' aramg t°—-9t+8=0 eranm soaTUT el Hlanay
g s, o 2sinx - 3 ST
Clgngme, 0<x<—| -am &L

s ’ 5 'j' " wd

sinx+ y3cosx 2
Options :

5

70819153507, 2

70819153508. V3

K| L

708191535009.

%;_

70819153510.

Question Number : 66 Question Id

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

lj[ﬁh1¢?)dt

im%— ; .
;ﬂﬁ = Isequalﬁ}
Options :
E
70819153511, 3
3
;
70819153512, =
1

70819153513, 12

: 70819116119 Question Type : MCQ Option Shuffling : Yes



70819153514, °

Question Number : 66 Question Id

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

X

J ( Hijwq } dt

lim L—— -6 LGl
a—0 x
Options :

s
70819153511, 3

3

;
70819153512, =

1
70819153513, 12

70819153514. 0

Question Number : 67 Question Id

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

3 2
4x ¢’
The function f(x)= Tl
Options:
1
increases in | o =
70819153515. -

1
decreases in | —r

;.

70819153516.

: 70819116119 Question Type : MCQ Option Shuffling : Yes

: 70819116120 Question Type : MCQ Option Shuffling : Yes

2ginx+ (2x— 1) cosx :



1
INCreases in [ o2y =

70819153517.

|

B3| =

decreases in [ e
70819153518.

Question Number : 67 Question Id : 70819116120 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

" 4x® - 32

f(x) > 2sinx + (2x— 1) cosx erasmm &miyLL
Options :

1 : s
{_r < | grerm @enGleuatiler sm(hb Fmiyy.

2
70819153515.
[;, L‘*‘*J erenm @enL Gleuaflude @EHenmwbd Fmijy.
70819153516. -~
l . P e — n =
= o | erentm @lenL_Gleuatlulled sa(ib &miLy.
70819153517. B
l . P o . 2
il 5 | erem @lenL_Cleuafludler Henmyd &Y.
70819153518,

Question Number : 68 Question Id : 70819116121 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



A scientific committee is to be formed from 6 Indians and 8 foreigners, which includes at
least 2 Indians and double the number of foreigners as Indians. Then the number of ways,

the committee can be formed, is:
Options:
70819153519, 1050

70819153520, 1022

70819153521, 260

70819153522, 375

Question Number : 68 Question Id : 70819116121 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

6 @pduisameryn, 8 deaefipr_Laemrud Carem(), GonbsulFn 2 @ bdlwg

Lt
s@anyd ogCUID Erar® Lk Qalm Laemyyb Qarar®) e olgeyna

& Sewés GeuamBd. @aGuman @(pésmar JawéEh eflsaflan eramenflEams
Options:

70819153519, 1030
70819153520, 1022

70819153521, 260

70819153522, 975

Question Number : 69 Question Id : 70819116122 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



If f: R — Ris a function defined by f(x)=[x —1] cos(zx 1}:T,where [] denotes the greatest

integer function, then fis :

Options :

20819153523, discontinuous only at x=1

20819153524. discontinuous at all integral values of x except at x=1

20819153525, continuous only at x=1

continuous for every real x
70819153526. 2

Question Number : 69 Question Id : 70819116122 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

R e . :
fl)=[x-1] cos[ a }:r erempeunm f: R— Reran sy euenqumssl LB ng. @ s

[] erémugy x - L WensliLLNg (pperem Fmiy. SLGUNPE f eTaTLg

Options :
x=1 @ sgdla Wam_jéflunna.

70819153523.
=1 @]@Iﬁlﬂ) ﬁfl_{&-inflg}. :d-)@.iﬂ I LEIJ_I}J_[} @].:,'1_}@,]_}” ':pr"tp lbln&lﬂdﬂldzﬁﬂﬂ '—Q‘#]@mf'aﬁ)”ul&bquﬂ)mg;ll&
(@) (R & (& LD.

70819153524, & 7O
=1 eramn @LGH@ WG Asrijssunars.

70819153525, Y= 1 @D @S wLHL Esmjeflunars

eTedeum G eremr x -@ILG&H D GsrLreflwunears .
70819153526, o e 3



Question Number : 70 Question Id : 70819116123 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

. 4 i o y i
. pCOSX— sInX . =1/ smmx+ cosx . e :
[f —,—_dx = asin IJ — " | 4+ ¢, where c is a constant of mtegrauon, then
V8 — sin 2x b )

the ordered pair (a, b) is equal to :
Options :

70819153527, & 1)

70819153528, (1 3)

70819153529, (1 3)

'.1
70819153530. L

Question Number : 70 Question Id : 70819116123 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

COSX — SINX ., —1({smx+ cosx) o : - e
_[—_dx =asin” | —————| + ¢, @rE caarug dsrensli(pn Gung
V8~ sin 2x \ b )

oL s@n wniled eeafld, aflosiu@ssiul L @eenr (a, b) -ear wALLL

Options :

70819153527, & 1)

70819153528, (1 3)

70819153529, (1 3)

'.1
70819153530. L



Question Number : 71 Question Id : 70819116124 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The area (in sq. units) of the part of the circle 2+ yzz?rb', which is outside the parabola

yz =0y, i5 :

Options :

70819153531, 247 + 343

70819153532, 247 — 33

70819153533, 127 + 343

21 '?,ﬁ

=

70819153534.

Question Number : 71 Question Id : 70819116124 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

9 . 0 - ~ B . 7. .9 : . om 00
y-=% erenm UreuenemSSHDE CleuetlGw 2 arer x°+y°=36 eramp auL L LLGS e

Lpoy (&80 Siegsafla)
Options :

70819153531, 247 + 333
70819153532, 24T — 33

70819153533, 127 + 343

70819153534, 127 — 33



Question Number : 72 Question Id : 70819116125 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
The population P=P(t) at time t’ of a certain species follows the differential equation
dpP

- 0.5P — 450. If P(0) =850, then the time at which population becomes zero is :

Options :

loo 9
70819153535. Be

1
;If}gflﬁ
70819153536. ~

log 18
70819153537. Be

2log 18
70819153538. '

Question Number : 72 Question Id : 70819116125 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

dp : : .
o 0.5P — 450. ereimm euenais(pé samun_anl Hlenmey Qalib g fa @ammsefln

aamentlsans, ‘t Corssla P=P(t) oy@w. P0)=850 arafle, symeusaflan ereamenilsons

UEAwn ey oy
Options :

log 9
70819153535,  oe

1
;IngFlS
70819153536. ~

log 18
70819153537,  oe



2log 18
70819153538. '

Question Number : 73 Question Id : 70819116126 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A manis walkj_ng on a straight line. The arithmetic mean of the reciprocals of the intercepts

1
of this line on the coordinate axes is 1 Three stones A, B and C are placed at the points

(1, 1), (2, 2) and (4, 4) respectively. Then which of these stones is/are on the path of the
man ?

Options :

70819153539, * only

70819153540, B Ny

C only
70819153541. )

70819153542. All the three

Question Number : 73 Question Id : 70819116126 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

@ wallgar @m CoGsr_ne pLaslprar. b5 CrICETH 2 (Heurs@w
Can_(sgam(aefan samabpsaflar sl [ symsf 1 L&D, ppenn snser A, B, C

werpGw (1, 1), (2 2) womd (4,4) eremp yereflsefla emeudsiu(Nereren. @) aeugeafla

oThs &6/ snsdr ins wellgar Hswaib Lraslia o areng ?
Options:

70819153539, A WL (HD



70819153540, B b

70819153541, & LBID

70819153542. eTelel T (LRI ﬂ"]_f,"n’."‘@ibu_‘l

Question Number : 74 Question Id : 70819116127 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The locus of the mid-point of the line segment joining the focus of the parabola yz =4axtoa

moving point of the parabola, is another parabola whose directrix is :
Options :

70819153543, *— 4

a

X=-—

70819153544, 2
70819153545, ¥ =Y
a
X ==
70819153546. 2

Question Number : 74 Question Id : 70819116127 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

J R [P . e o I o e i -~ . . I g : I
ye=dax aTallm UfeueneTwWSdler W eTer @ @UBEEHD UeaTalsGn 35
Gellugding @en Gw 2 arar epowl yaretller Blunbiummg e LITeIaETLLD

eraitled, e @waGeauenyullen FwoerUm(y)

Options :



70819153543, * =4

d

xX==-—

70819153544, 2
70819153545, ¥ =0
a
Xx=—
70819153546. 2

Question Number : 75 Question Id : 70819116128 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

If the tangent to the curve y=x> at the point P(t, t¥) meets the curve again at Q, then the

ordinate of the point which divides PQ internally in the ratio 1: 2 is

Options:
70819153547, U
70819153548, 2t
1-_3
70819153549.
3
70819153550, 2t

Question Number : 75 Question Id : 70819116128 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

y=1 aenn amaaars@ Pt t°) earp ydreflled aamruiulL QAsr@Csnd
cueneTeuenIenlL LomiUlg b Q ererrm Leretllley smdlssmen, PQ -eneu 2 arloar 1: 2 eremm

-

cldlsadle Ufsen uarefllen @ssmus gmb (Y -opustsnama)



Options :

70819153547.

70819153548. <*

70819153549.

70819153550. -~

Question Number : 76 Question Id : 70819116129 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The equation of the plane passing through the point (1, 2, —3) and perpendicular to the

planes 3x +y-2z=5 and 2v -5y —z=7, is :
Options :
70819153551, 0% Sy +2z+10=0

70819153552, 11x ty +172138=0

70819153553.

70819153554, 2% 10y~ 2z +11=0

Question Number : 76 Question Id : 70819116129 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

_ [LE . i R R e s R : &
3x+y—2z=5 wpmd 2x—5y—z=7 cremn SerhsEhE®E olsm@ssnsalb (1,2, —3) e

Lerefl eufliungeld Cadad, sarddler swerum(

Options:



70819153551, 06X 9y +2z+10=0

IIx+y+17z+38=0

70819153552,
3 = o
70819153553, 0% Y 2 0
_ g o
70819153554, >X 10y 2z +11=0

Question Number : 77 Question Id : 70819116130 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The distance of the point (1, 1, 9) from the point of intersection of the line
x-3 _y-4 _ z-5
1 2

and the plane x ty+z=17 is :

Options :

70819153555, 2v19
70819153556, 192

70819153557, V38

70819153558, 0

Question Number : 77 Question Id : 70819116130 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

F=8 A= gl oo
— — =
1 = S e g

P
|

o

I x +y+z=17 aremm garpd Geu R Uereflé @

(11,9 ereirm Leraflg@n @en Ll L S



Options :

[
3
=]

70819153555,
70819153556, 192

70819153557, V38

70819153558, 0

Question Number : 78 Question Id : 70819116131 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

An ordinary dice is rolled for a certain number of times. If the probability of getting an odd
number 2 times is equal to the probability of getting an even number 3 times, then the

probabilit}-' of getting an odd number for odd number of times is :

Options :

70819153559. *

70819153560.

—
o

70819153561.

b | =

70819153562.

Question Number : 78 Question Id : 70819116131 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



@ Frmem UL uwen 2 HLLULRSADS. @hon aaw dHeLlusnsren
Hapssmer @ramird Aumsdembd wHlyb, @riel aar falliugnhsmer
Hapssmel (parprad dumadeaimn wlyb sob eefld, @han e FLea

GJQ'HJE-E}'ID ol cHl 'aL.:It;fc‘d(b_‘,m'I_ljdzl1hﬂf {I_EIH:HJ‘Q‘)&&LI

Options :

70819153559, 32

70819153560.

70819153561, 10

1
70819153562, 2

Question Number : 79 Question Id : 70819116132 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Two vertical poles are 150 m apart and the height of one is three times that of the other. If
from the middle point of the line joining their feet, an observer finds the angles of elevation of

their tops to be complementary, then the height of the shorter pole (in meters) is :

Options :

70819153563. 25

70819153564, >0

70819153565, 20v3

70819153566, 22V3



Question Number : 79 Question Id : 70819116132 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

-,

Ipar(y soUBsella @ sbugdlar o wrb whnems U ppemmn L ki@ 2 eTarg.

A

b5 @rew( sbumsar 150 B @ dadflle @asslul(derear. b

_\
-

surgeilar gy QaarsEn Camlyer mousddmbs, Grean( &burseaien

2 58l0en gDpé Garemmiser Hlyuus GCanambiser aefld, Ablu sbusdar 2 wb

(B Lifled)
Options :

70819153563.

70819153564, >0

70819153565, 20V3

70819153566, 25V3

Question Number : 80 Question Id : 70819116133 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The statement among the following that is a tautology is :

Options :
70819153567, * ~ (A V B)
70819153568, -+ ¥ (A~ B)

70819153569, A~ (A—=B)]—=B

70819153570, ° LA~ (A= B)]



Question Number : 80 Question Id : 70819116133 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

SpssanL smom&afle ez Gwlwmn ?

Options:
70819153567, ‘* (A V B)
70819153568, * ¥ (A~ B)

70819153569, A~ (A—=B)]—=B

70819153570, © LA~ (A= B)]
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Question Number : 81 Question Id : 70819116134 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

If the least and the largest real values of «, for which the equation z+ «z—1|+2i=0

z€Candi=+-1) has a solution, are p and g respectively; then 4(p* + g% is equal to
p q resp ] pTq q

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 81 Question Id : 70819116134 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

p, q erenuen wpannbw z+az—1+2i=0 (z¢C, i =v'r_lj eremm gaTUTLanL Blenmay
Gaid a -ar Aflu womyd Huflu wéiuser eefa, 4p?+q?) -ar oy
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 82 Question Id : 70819116135 Question Type : SA

Correct Marks : 4 Wrong Marks : 0



Let B, (i=1, 2, 3) be three independent events in a sample space. The probability that only
B, occur is o, only B, occurs is  and only B, occurs isy. Let p be the probability that none of

the events B; occurs and these 4 probabilities satisfy the equations («—2p) p=af and

Py
(B~ 3y) p=2fv (All the probabilities are assumed to lie in the interval (0, 1)). Then [’(ng is

equa[ to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 82 Question Id : 70819116135 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

B (i=1, 2, 3) ranuar sapGaeafbie sowbs aparny srjunn Blspsdsar.
B, (b priugnsrar Bl&bsse o By bL(ib priugnsrar Blahssa
B wiHnib B, L (b BLULSHETEr FlEpssey v. e gHL HLESMDOD @)HULSDETET
Hapssa) p aens. Goab @65 BrarE Bapsse|sEs0

(o —2p) p=u[5 wHmb (B-3y) p=2py arern swarunhsamer Hleney ©eldlerpan.
P(1)
P(By)

Response Type : Numeric

QUdumnps -6 WLELY

Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 83 Question Id : 70819116136 Question Type : SA



Correct Marks : 4 Wrong Marks : 0

L
Let P=|2 0 «f, where acR. Suppose Q=[ q;] is a matrix satisfying PQ =XkI, for
3 0 '

k

; k
some non-zero keR. If 3= - — and Q = T,then a2+ k2 is equalto

3 S
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 83 Question Id : 70819116136 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
| 1 -2

0 o womb aceR @0 Q=[ q;] aarug PQ=KkL; erammeunm 2 arar ¢
5 10

=
I}
R TUR N T

"

ohpd [ = — aafld, a?+k? -ar oo

g

o |

2enfl, keR. qu=

r

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 84 Question Id : 70819116137 Question Type : SA

Correct Marks : 4 Wrong Marks : 0



Let M be any 3 x3 matrix with entries from the set {0, 1, 2}. The maximum number of such
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If one of the diameters of the circle x2 ]F 2v— 6y +6=0 is a chord of another circle ‘C’,

whose center is at (2, 1), then its radiusis .
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